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1. Write out the first 5 rows of Pascal’s Triangle, and then use it to expand (x+y)’
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* 2. Use your result from #1 to find a trig identity for sin(50) in terms of cosG and sin@.
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3. Simplify: (~1+)®. Give your answer in a+bi form.
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« 4. The circle below is a unit circle, and z = (a+bi)(c+di). Plot z on the graph as accurately as possible.

On the right, include a written explanation of why you placed z where you did.
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b) Graph the pre-irﬁage (connected with dotted lines) and the image of the transformation

(connected with solid lines) on the graph below.
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6. Write a single matrix that would transform a pre-image according to the following (in order):
i. flip overthe y-axis |d §
ii. rotate counterclockwise by 30 degrees E T
iii. stretch in the x-direction by a factor of 2.[z 2
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. a) Write a single matrix that would transform a pre- image according to the following (in order):
i. shear in the y-direction by a factor of 3. g e
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. Translate 5 units in the x-direction and dni s in the y-direction.
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c) Show how you would use your matrix from part {a) to find the image of the point (/,k) by
matrix multiplication.
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